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M : Hermite
M: M
o: M — M

M={xe M)|o(x) =x}

Lagrange
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Hermite

CP"™ : RP"
G2(R"12) @ §Fn=Fk (0 <k < [n/2))
(= S* x S"F/7,)
GE(C™T) + GE(RM),
G, (H™%) (n=2m,r = 2q),
U(n) (n=r)
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M : Riemann
S C M :
S Vre,ye S sy=y
HoM : M [ 2-number
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K =R,C,H
#2GE(K™7) = ("’ ' T)
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M L,(00) Lo(00O)

(0F 4k RP™ RP™
éz(Rn—|—2) Gk.n—k qlin—1
GH(C™) | GEEMT) | GHE™)
GS(C2m+2) | GY(H™Y) | GE(Hm )
GS(CPm+2) | GH(H™H) | G (R +?)
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M,Ll,Lz .
Ll,LQZ
— L1 mLz .

#(L1NL2) = min{#2L1, #2L2}

Howard : M = CP"
#(leLg) :n—l—l
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M : Hermite
L : M [ Lagrange
L :
< L,g- L

(9 : )
#(LNg-L)=dimH,(L,Zs)
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L1 .
Howard :
RP™ C CP"

§02, 811 C Go(R*) = S? x S2,
SO,n, gl,n—1 C éZ(Rn+2)
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M Kahler
> 0
Li,Ly : M
Lagrange

= LiNLy#0

Frankel
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X : Riemann

pe X
C:P(X) - P
Cp(X) - P
Cp(Sn) — {ﬁ}
K=R,C,H

C,(KP") = KP" !

15



2.2(00)

M :
A

pEA
Cp(M) = | Ad(k)Cy(A),

Cp(M) = U k- Cp(A)

ke K




2.3
M : Hermite

L: M o€ L
= C,(L) = T,L N C,(M)
C,(L) = LN C,(M)

L M
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F(so, M)
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F(s,, S™) = {0,0}, 0 :
K =R, C,H B
F(s,,KP") = {0} UKP

M
= F(so, M) — {0} C C,(M)
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M, Ly, Lo :
o€ LiN L»>
LiNLy—{o} C Co(M)
LiN Ly C F(sp, M)




